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Note : Attempt Five questions in all, selecting at

least one question from each Unit in addition

to compulsory Q. No. 1.

izR;sd bdkbZ ls ,d iz'u dk p;u djrs gq,]

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u Ø- 1

vfuok;Z gS A

1. Describe the following :

(i) Cost accounting

(ii) Criticism of financial statements
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Unit II

bdkb Z II

4. Ratio analysis is a tool to examine the health

of a business with a view to make the financial

results more intelligible. Discuss. 14

vuqikr fo'ys"k.k foÙkh; ifj.kkeksa dks vf/d

le>nkj cukus ds fy, O;kikj ds LokLF; dh tkap

djus ds fy, ,d midj.k gS A o.kZu dhft, A

5. What is the purpose of preparing a cash flow

statement ? How is it prepared ? Explain and

illustrate ? 14

dS'k Ýyks LVsVesaV (udn izokg fooj.k) rS;kj djus

dk mn~ns'; D;k gS \ ;g dSls rS;kj fd;k tkrk

gS \ o.kZu dhft, rFkk n`"Vkar nhft, A

Unit III

bdkb Z III

6. Discuss the significance of standard costing as

a technique of cost control. 14

ykxr fu;a=k.k dh rduhfd ds :i esa ekud ykxr

ds egÙo dk o.kZu dhft, A
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(iii) Fund flow statement

(iv) Limiting factor

(v) Marginal costing as tool decision-

making

(vi) Human resource accounting

(vii) Brand valuation accounting in

computerized environment. 7×2

fuEufyf[kr dk o.kZu dhft, %

(i) ykxr ys[kkadu

(ii) foÙkh; fooj.k dh vkykspuk

(iii) iQ.M Ýyks fooj.k

(iv) lhekadu dkjd

(v) fu.kZ;u ds :i esa lhekUr ykxr

(vi) ekuo lalk/u ys[kkadu

(vii) dEI;wVjhÑr i;kZoj.k esa czk.M ewY;kadu

ys[kkadu A

Unit I

bdkb Z I

2. “Management accounting is the presentation

of accounting information in such a way as to

assist the management in the creation of policy

and in the day to day operations of an

undertaking.” Elucidate. 14

^^izca/u ys[kkadu bl rjg ls ys[kkadu tkudkjh

dh izLrqfr gS] tSls fd uhfr ds fuekZ.k esa vkSj

miØe ds fnu&izfr&fnu ds lapkyu esa izca/u dh

lgk;rk djuk A** foLrkfjr dhft, A

3. What essential qualities are required to be

management accountant ? Explain. 14

izcU/ ys[kkdkj gksus ds fy, vko';d xq.k D;k

gksus pkfg, \ O;k[;k dhft, A
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7. For the final assembly of a product in an
engineering company, a certain component is
required. The company has the options either
to procedure the component itself or purchase
it from the market. The production department
which can make the component is currently
working to full capacity and earning a
contribution of ` 10 per hour on an order
which will last for another ten months. Repeat
orders are very likely. Variable cost of making
the component is ` 42 and it takes one hour
per unit. Market price of the component is
` 45 per unit.
What advice will you give to the management
of the company ? Explain. 14

,d bathfu;fjax dEiuh esa ,d mRikn ds vfUre
vlsEcyh ds fy, ,d fuf'pr iqtkZ dh vko';drk
gS A dEiuh ds ikl fodYi gS fd ;k rks og
Lo;a iqtkZ rS;kj djsxh ;k cktkj ls [kjhn ysxh A
mRiknu foHkkx tks iqtkZ cuk ldrk gS] og orZeku
esa iwjh {kerk ls dke dj jgk gS vkSj ,d vkMZj
ij ` 10 izfr ?kaVs dek jgk gS tks vxys 10
eghuksa rd pysxk A vkMZj nksgjkus dh cgqr
laHkkouk gS A iwtkZ cukus dh pj ykxr ` 42 gS
rFkk ;g izfr ;wfuV 1 ?kaVs ysrk gS A iqtkZ dk
cktkj ewY; ` 45 izfr bdkbZ gS A dEiuh ds
izcUèku dks vki D;k lykg nsaxs \ o.kZu dhft, A

9. What is EVA ? How is EVA superior to

traditional performance measures ? Offer some

suggestions to improve EVA disclosures by

Indian firms. 14

EVA D;k gS \ ijEijkxr fu"iknu lk/uksa dh

vis{kk EVA vf/d Ükzs"B dSls gS \ Hkkjrh; iQeks±

}kjk EVA ds [kqykls dks csgrj cukus ds fy,

dqN lq>ko nhft, A
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Unit IV

bdkb Z IV

8. The cost of an article at a capacity level of

5000 units is given under A below. For a

variation of 20% in capacity above or below

this level, the individual items vary as indicated

under B below :

A (`) B

Material 25,000 (100% Varying)

Labour cost 15,000 (100% Varying)

Power 1,250 (80% Varying)

Repairs and

  maintenance 2,000 (75% Varying)

Stores 1,000 (100% Varying)

Cost per unit ` 12.25

Inspection 500 (20% Varying)

Depreciation 10,000 (100% Varying)

Admn. overheads 5,000 (25% Varying)

Selling overheads 3,000 (25% Varying)

Find the unit cost of the product at production

levels of 4,000 units and 6,000 units. 14

5000 bdkb;ksa ds {kerk Lrj ij ,d oLrq dh

ykxr A ds rgr uhps nh xbZ gS A bl Lrj ls

mQij ;k uhps dh {kerk esa 20% ds fopj.k ds

fy,] O;fDrxr oLrq,¡ vyx&vyx funsZf'kr B ds

rgr uhps nh xbZ gSa %

A (`) B

lkexzh ykxr 25,000 (100% vyx&vyx)

Ükze ykxr 15,000 (100% vyx&vyx)

'kfDr 1,250 (80% vyx&vyx)

ejEer rFkk j[kj[kko 2,000 (75% vyx&vyx)

LVkslZ 1,000 (100% vyx&vyx)

ykxr izfr bdkbZ

  ` 12.25

fujh{k.k 500 (20% vyx&vyx)

ßkl 10,000 (100% vyx&vyx)

iz'kklfud mifjO;; 5,000 (25% vyx&vyx)

fcØh mifjO;; 3,000 (25% vyx&vyx)

4000 bdkb;ksa rFkk 6000 bdkb;ksa ds mRiknu Lrj

Lrj ij mRikn dh bdkbZ ykxr Kkr dhft, A
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